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Paper 1

Section Id : 517144149
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144460
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 51714411264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&m@éoiﬁc@@@ﬁ "eifroh arerdtann” edne R EAY

Options :

The physical location of an institution.
;ﬁoQ g aE &8

1. ®
The number of students in a classroom.
5 % SBKBEY E’cht:‘giﬁg}@ 208y
The arrangement of furniture in a classroom.
Cefate ok PSS esHdE
3. %
The overall context in which learning takes place.
Y. CIALNSENY 2280 Fngsn Slelaleltavy

Question Number : 2 Question Id : 51714411265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Postgraduate education falls under which level of teaching?
TS EE D O 5B e ﬁgméﬁ S0ENOH

Options :

Elementary education
(arthang el

1. ®

Secondary education
Eﬁé@dﬁ) Alaly

Tertiary education
3 é@é@ﬁ; Alaly

Vocational education
L% a’iej@ 3]655

Question Number : 3 Question Id : 51714411266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
2988 &dst, &m@éﬁg@ St sgly DB Hgen astorD ”Q@G

Options :

\irtual discussion boards
éiﬂ]&a’}ﬁ oy ﬁﬁéoﬁm

Online chat rooms
5 % 88~ o8 Hthen

Social media platforms
By = AvalaY S6en

3. %

Face-to-face in the classroom

Y. SBK8 KOS Snge Snd



Question Number : 4 Question Id : 51714411267 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?
090 (54 B (ErFHE By 2B7?

Options :

Offering degree programs online.
s5858° &R seggESne (@H8ared

1. %

Providing paid specialized courses.

, & D00V (5858 §°Byen Dovyin Bckne

Broadcasting educational content through TV channels.

3 B o) oo oy DRSSP (B0 Scfnés

Conducting in-person workshops and seminars.
Srohore Btyarden, SEknen QBirohi

Question Number : 5 Question Id : 51714411268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
@S85 HEen, HBHY eu8bne, HENHS (HArKmom 68 smrirten

Options :

Traditional teaching methods
FrolarahE Ssae Seen

1. %

ICT-based assessment tools

- ICT- eseBe8 E0B05) HV0ED

QOutdated educational technologies
; % 5003088 Doy FoBAESen



MNon-interactive resources
HEOSE Ddhen

4. % o

Question Number : 6 Question Id : 51714411269 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
[TrreEE $568%5% edm

Options :

Observing and describing phenomena without intervening

. éﬁééo S8 %o :‘.52*}% DA H8ded D6
1.

Manipulating variables to establish cause-and-effect relationships

- o (3gr Yomopred osrofohid deroeid ENvlsh)) Dok

Conducting surveys and interviews to gather opinions
©f|Troh DB éﬁé@;ﬁ, B08875en AR

Analyzing historical documents and records
4 % TOEg)s dEre, tshe AL

Question Number : 7 Question Id : 51714411270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
HBE° GRS %y aradus rdoHds

Options :

Objective truths can be directly accessed without the influence of human
perception.

A Bard Dereorh,drdsd (e 48 Bome [BSs¥ore 36&&)&&3.



Subjective experiences play no role in shaping research outcomes.
58808 Hhare Eﬂjoa’}ér&}ojeﬁe_‘%’s HEars eindiare arE@ Gotth

2.
While objective observation is important, researchers’ interpretations also
matter.
. R Bare 58808 S0gEbd, 50885550 DHBesen Eres Ersngys Saraeon.
3‘ -

Research should solely rely on abstract theories rather than empirical
evidence.
588848 ST BRE %ﬂgéa‘m_;'ﬂ 5506e, Dollfsr E}ﬁ;@@“@_gg il

4 % GGEEIED.

Question Number : 8 Question Id : 51714411271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
QG5 DOBOE 535508’ nRcirbzo b

Options :

Using too many references in a paper
2.8 avgﬁa’méﬁ TPETP TP GaaIiian

Quoting a source directly without citation
oH8pso seHowe [BgBorr S arthes

Rewriting someone else's work in your own words
asd e HAD o ‘é&oéﬁémﬂa}ﬁs SOA (geding

Properly citing sources to give credit to the original authors

. wden e Toardd H5HoH $omr &isBohe
4.

Question Number : 9 Question Id : 51714411272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



What is the typical order of sections in a research arficle?
2. H88Psae m&éoéﬁ Neerren oeauren (Edodn 8.

Options :

Methods, Infroduction, Results, Discussion, Conclusion, References
a.”:utgé)en, 2bSahim, Hheren, ST, dwho), &aéa}é@a

Introduction, Methods, Results, Discussion, Conclusion, References

- HBHcHhEm, ;’}géow, HDaren, S8, Ao, égﬁmém

Introduction. Conclusion, Methods, Results, Discussion, References
HBSchHD, AwAho, égéﬁm, Paren, 5B, f;‘:tf.iﬁ}?ém

Results, Methods, Introduction, Conclusion, Discussion, References

4% SHemmen, ?.”che’ﬁjm, HBSchen, Hwhod, S8, ﬁ;ﬂa}ém

Question Number : 10 Question Id : 51714411273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments” section in a thesis?
?;}mgoé avé?éa’m@éiﬁ é@é%é@ Deriidin @558

Options :

To list all the references used in the research
58885565 &‘:ﬁa}é@ erfae Soird Daind

To introduce the research methodology
, x HBPS HZBD HdBaHo Jasne

To acknowledge and thank individuals who contributed to the research
5885555 55603&56 é@@@otﬁﬂé 802, Hgertren Sended

3. ¢

To present counterarguments to the research findings
L% 588555 PDere) (HABrezrSHen Ssne
Sub-Section Number : 2
Sub-Section Id : 517144461

Question Shuffling Allowed : No



Is Section Default? : null

Question Id : 51714411274 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Note: Answer the questions 11-15 by reading the following passage:

$50R8: (Bod =6 Sirarto egrdore Q. 1106 Q. 15 (HEedH J&rgrareen
[Eailerilelnd

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

B35 P66 Gy S0, Keth woshe IHS EreS DB PHo, 1700 &
DBoSaéod. =6 HE28 @éf@f’ Coth Y DoeES 3G e $0d.g5K00 oot 58
5Dt orrdnmd o) DB DHeNFod DAL a8 wof o) Bén BT
0Bdin od) S8 Trory) DEEY DDy Hbdn Beoden BOAD a8 a°d €D He
DB BBeso e HoAod. TS D08 B =DETond® ErdS ToPD SKE ar.
KE 5D s, é’bgg %55 sTo%ech Hnoth Senghio é}é}h‘j@“m. 508 Haroe
[©88e Lof ey s GIoR HBom ([Eronoh Broed®d ahaHer Jbyysea.
So&BE BT aAden T)00. SRS Senden oeoe =08 JHE 68 &Pyt
Ha¥o God.

Sub questions

Question Number : 11 Question Id : 51714411275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
Sﬁl}QE NE ) @‘51‘55 cﬁné‘; FHH0 arsd B

Options :



stately
KoDE56.

in ruins
CIAISEVINTAY

uninhabitable
Qaﬂﬁcﬂﬁ@o 506

inhospitable
4 % ©8BoSVH

Question Number : 12 Question Id : 51714411276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
Eaftale! &P ES&D&&J&OE)

Options :
red stone
| % o8 orow

sand stone
0¥ Teon

wood
Eég_

stones
Uaﬁq,;

Question Number : 13 Question Id : 51714411277 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
@ FHNo B & Do& sobd

Options :




grass
Lo

wilderness
&vtﬁcaéo

low trees
D) DeW

flowering pots
e Hoten

Question Number : 14 Question Id : 51714411278 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
2.8 Ja) &) én &8 55&;,@033.

Options :
garden

1 % &hes

courtyard
, % (@Fofeso

dining room

3 hezarer K6

office

L % S"U‘g@dﬁjo

Question Number : 15 Question Id : 51714411279 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
D aoed® Dol o ©80 éﬁ& 2850




Options :

Extensive

AL
Lo T

circumference

thenEred
2. (4]

dimension
3 % 20RO

uncommaon

L % SEvEniel )

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

3
517144462
Yes

null

Question Number : 16 Question Id : 51714411280 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in

establishing a constructive relationship

Eoreg 0B NS oJrTon Nerdod Hbcn Joyrd)E Somoged) DBYBSEoE®

Rerchantheob.

Options :
positive

L PioEore
passive

) % Qoo
reflective

3 % éﬁﬁé et 5580 Kr8S
retentive
ordes 88 He

4., %



Question Number : 17 Question Id : 51714411281 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
55 TG 518cHS? Hers ©56%0 éa’)ﬁga‘)oé@é
BESBH G0
Options :

stress management
a8 DB

1. *®

listening
- DVEE Jadesgo

crisis management

‘K)ogfe,’f QBgses

time management
Jedd AT

Question Number : 18 Question Id : 51714411282 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Successful intercultural communication depends greatly, when one
other cultures.

=888 ﬁoﬁ;&é’a}@é_ Sotiéo Do, @oe‘_ﬁfﬁn}oé&eﬁ Hogrdes ©dinbsen
Boee FiHeod
Options :
praises

|k B0

respects
2. W aigsl e



practices
LIt

3. %

belittles

L x O D

Question Number : 19 Question Id : 51714411283 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
55563 SgEen 2.8 DAdIr)) DPnore SraNay), e S Jaroroeas
m&@?&i‘é@cﬁ), PR 08 eoértn
]
Options :

Psychological
L% VRN ESISEV Ry

physical
n T

emotional
epvﬁﬁéogﬁ

perception

J"-'EI
. TP

Question Number : 20 Question Id : 51714411284 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

‘Twitter' and ‘Linkedin’ are examples of media
‘ﬁ&&)ﬁE’ 08d5®n ‘E}0§5 : VARV A telooloy
Options :
social

| e



digital
i CB0S

Print
3 % SBS

Traditional
20(BTEHE

Question Number : 21 Question Id : 51714411285 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,

Options :
| % 19020

, » 19200

19220

21120

Question Number : 22 Question Id : 51714411286 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, ___, SSG, XUD
Options :
| % MPI

Mal

2. %



NPJ

NQJ
4. ¢

Question Number : 23 Question Id : 51714411287 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?
2.5 AR F6 22 KITE @& HTR), 4567T HOCS) RATE @08 HT°R)
8967 §6 TN, & a7 TAKE @3 HTQ)) e 86 T

Options :
| % 6974

, « 6794

. 6479

6947
4. %

Question Number : 24 Question Id : 51714411288 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

B0 Howeew 2:7 DSBS &ar) 0. (96 253¢3 12 DoDILows,
DEOSOT TNCHES DO B0 dozed VNI 1:3 @0, B
QOPE__?

Options :

13384

, x 112



 x 126

, v 168

Question Number : 25 Question Id : 51714411289 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is
16 ey By Q612 2305 @9.30255) ST DAIrS0 eon, e
Foe50

Options :

| = 16.66%

20%
25%

1]
4 33.33%

Question Number : 26 Question Id : 51714411290 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Statements:
All hills are mountains.
Some rocks are mountains.

All rocks are ropes.

ESETATNISW

Foe) HE .
') Feen % sEren.
o¥) =Y.
Conclusions:

l. All hills are ropes.

. No hill is rope.
II. Some ropes are definitely hills.

ST JTeeN:

. So%O) =T.

. D 0 $r & 5°eh.

1. §Q) & Do Sodken.

Options :

| follow

1. #®

Either | or Il follow

2.

11l follow
3.

Either 1l or Il follow.
4. ¢

Question Number : 27 Question Id : 51714411291 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in

the class failed in at least one subject?

10 08 DTrsdendd) 511e3eS” TV 110 0D, He3e506S 120 H0H
DTFEDEN DONOOSF 1D, BOR DBHE’ 30 HOH DEsden
DOAVEOOIT . S5HB D030 Deeien D00 2.8 DB

PONOAF L7

Options :

1

.$120



, o 160

5 % 140

4 % 180

Question Number : 28 Question Id : 51714411292 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my father's father's only daughter-in-law’s brother related to me?
S TOYTTD 28RS §O) 5038 TH arogsso De3?

Options :
Father
% S0&

Paternal Uncle
?;Jtﬁaﬂé&

Maternal Uncle

| o Sehaty

Cousin

Question Number : 29 Question Id : 51714411293 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

SR80 QOBOH® AFEO ez 7238 OG0 eHdraeld HoD0H 0N &
1Bo® 3 (BXIO SO AO?
Options :



Linga/Sadhana is the middle term
DORISH @l v lnigpslale

Paksa is the minor term
éé A é’JEﬁc;L E5Tnle)

Sadhya is the major term
5 % PP &30 (Heed Do

Hetu is the minor term

o ©ub Eflkécl b5Tale
4.

Question Number : 30 Question Id : 51714411294 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is true with respect to the first figure of categorical
syllogism?
S50%Ge0 TINE) DE3 @0TE H0D0H0D &1 (20O T3S DA HDe5z0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise

30638 D0 T DT (BHabdbo TB0E) ©0F0 HBOW D) 838

L Q308 (eS80

The middle term is the predicate of the major premise and subject of the
minor premise

SNGE D0 BTO VD), Habdho TBNE) DT €333 DO I
) % CBOE) ErSredo

The middle term is the subject of the major premise and the predicate of the
conclusion

L D0 ORE 1IN STTB0 SHBAW SN0 A30E) @040

3. %



The middle term is the subject of the minor premise and the predicate of the
conclusion

AR alRvale @O VI (HdhdHo HOCW SN0 A3NE) ©0F0

Sub-Section Number : 4
Sub-Section Id : 517144463
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714411295 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
HeRE: 1808 Q352G R Tr80 estrSomr Q. 31 c0G Q. 35 104)©850
NPT |PON0G.

In an University, the strength of male students is 1500, Female students is 1200

and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.
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Which of the following is the maximum?
0B ¢35 (100 DB?
Options :

Number of female students in chemistry department
L% SR derrioes SHirer Darsthes Hows

Number of female students in Botany department
5 ¢ SO Jzriiod Hrer Do sde> dows

Number of faculty teaching Management
L % DRE DOES e3D0R Frs5e) Homs

Number of male students in chemistry department

L TR Do S0 Dezeethed Hows
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23068 R (2Pare2d) Drsen 08 SHadan 8. 2,575,068 25,000. (Hed
23068 T R(eParer2d) :mé%) D205 feN 2250 TerBd E3.10,000. Sedren
DN 22’ Do TS0 eorrsNnBoe Zerds TOTE?

Options :
1.« 56%

, % 51%

Question Number : 33 Question Id : 51714411298 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007

te3650, DT SHOAD 3&0@ DOD JeTzther Doz, e, ararered
S10050 €07 SBD BNHE DD HOPLY, H0DOGE JNTF O
e 1008 S0 TS ST 56 DA DO5?

Options :

i g
1.v

) ® 7:6

3 % 4:3
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In which Department is the ratio of faculty to students, the lowest?
GENEI SHBA DTrzhe AN &) DerioeS eachser JOTP G0 ?

Options :
Botany
L x D98TIRO0
Cherrlistry
2. v S
Language
3. % ajﬂ,ﬁ

Mone of the above
HE3S DA B
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?

DIED0E SHOT 9IS 25% H0EA DR Ds D053 T8
TT2BB, & D056 )50 DTS oS 40 H0A Vel (Hed
272550 DSTENT DOes HOO areEE) e02TeneS S0EFEH?
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v 3
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ASCII stands for ?
0).00R.%.90.0 @b

Options :
v American Standard Code for Information Interchange

American Standard Code for Information Interaction

_ American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
& BrHS $5oRs® 2B RIS IGDGY

Options :

Internet
1. %

- Intranet

3 % Ethernet

e Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-foprecir A8wd J0¥ Eairt IO

Options :

Ministry of Education

- DT, SDO(BER0

Ministry of Finance
f_agé 300(B&E0

2. ®

Ministry of Electronics and Communication
_ oIgEIEY), ébﬂm@?&éﬁéﬁj SoolB&o

Ministry of Mines
e o@&o

4. %
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RAM means ........
oo @dme

Options :

Random Access Memory
1. ¢

Rapid Access Memory
Remote Access Memory

4 % None of the above
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Which is an example of a cloud-based file storage service?
B55 B8 DB o eaeds %ﬁfﬁ& 5% Ssoedrte?

Options :

Whatsapp

Mozilla Firefox

3 Dropbox

4 % Instagram
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The target year for achieving the Sustainable Development Goal is...
De8E @éja“)ej% oS TSR ﬁjﬁ?}%é o Bo

Options :

2025
1. ®

) 2030

, % 2035

2040
4. %
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Which of the following statements is true about global warming?
($%0d DBMS® & HIND & BHADED HBFHH?

Options :

Global warming has led to large scale deforestation

. HHoS S8 2 S8 @éd) Mepiatviy 68206
1.

Global warming has led to a rise in the sea levels
5 ¢ ©%0F SIS [ 5;03}@ 2HEet rbhos

Global warming has led to a rapid increase in the population across
several countries

3 % HHoS S DY Bared® aorgr SiiHod DHIHSEOH TBHHG

Global warming has led to a huge amount of waste generation
50 S8 ged ée‘,lm 65858 882086,
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Correct Marks : 2 Wrong Marks : 0

Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
e8jzihin DY EB8errre é"méﬁ% BEEER éﬁﬁoﬂ BN IV f'aﬁﬁﬁtﬁé?& e

BMHE ardind) (HerdEo 3@05‘:
Options :

Carbon monoxide

v 5‘}@5 SN

Carbon dioxide

- 80 8 «B)E

Sulphur dioxide
- denb @ «8)&

Nitrous dioxide

L xS0 @B
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The National Institute of Disaster Management (NIDM) was established

er8ah DHH Ve Do Frhodads 86

&
Options :
September 23, 2002
?}'@_oeaéo 23,2002

August 14, 2001
e_arﬁ:(g 14,2001

October 16, 2003
; « o8B 16,2003

August 14, 2004

L v Oy 14,2004
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Where was the first International Earth Summit held?
S0e5B E}Dﬁﬁt};@tﬁj g Bgoe|l SESE0 2BAS ”{%E}D
Options :
| = Kyoto

) o Rio de janeiro

New Delhi

3. %

New Yark
4, %
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What do you mean by ‘Shastras’?
Fo|Jren eidre

Options :

Creative literature
Eard)E Jrardto
[0 [C

Learned disciplines
) BB Bolren

Imaginative
8388

Creative and Imaginative
K}E}aaﬁe‘ﬁéé, éﬂﬁé@é
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Who was the chairman of NEP 2020 drafting committee?
2. 3.2 2020 Sndronme eigEHtd 2D ?

Options :

Kailasavadivoo Sivan
1. %

Dr. K. Kasturirangan
2.

Prof. Yaspal Sharma
3. %

Prof. G. RajaGopal
4. ®
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Which of the following learning programme originated in India and is considered
as one of the oldest?
m08d5rs® (Frdofodal, HorsdDBbm HBHBoDNt @grgd sEEDSD D6 ?

Options :

Law

L D
1.

Fine Arts
, x ©D8 B¥en

Ayurveda

- e_aciﬁmfﬁécﬁ

Management

Qe
4. % >
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Which is a solution to reduce the progress of climate change?
TEtn ey $E0 SHoHeH HBaE)B6

Options :
Greenhouse Gas
2 B0l aecing

1. *

Wind Power

) @ ) 38

Deforestation
@éd) é'CJdPétJKJ

Fossil Fuel
Bewes BOLN
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
2080568 [ghesg, La’}e,"bénge‘_ir:ﬂ ﬁo‘gm, ?;Jr‘é S50, & Do BT DGPR

S Surardh edbendmon.
Options :

Resource model
| % e e

ltinerant model
airlEe SiurEae
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sode bdin dHE S
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(iNeln] 558 o
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What begins to decline with the development of division of labour?

GRALE &ﬁmm@é&%@ﬁ & B0 ®odHm e‘_ijfjjma lardodoshi

Options :

Mechanical Solidarity
S50|B8 HosnagrHin

Suicides
@é@{:ﬂéém



Collective consciousness

N;D o i
3 @ B0eTE ()T

Alienation
4 % woeoarEdc
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Assertion [A]: Women are mostly involved in jobs such as nursing and teaching.
$)D88e [A] 1 Qoo QK 580K, eargah HBS® sotrd.

Reason [R] : In our society, people associate certain jobs and professions with gender.
580 [R] : 508 Hiresosd (Hesen, Dorrd)) 28 B ﬁﬁ%ﬁﬂ@a, Ren Do Darto.

Options :

Both A and R are true and R is the correct explanation of A
2 cﬁgjo‘g}éém, 508830 DOt N850, 5°5ER0, cﬁaﬁ)ééaa GnE) DDHBes

Both A and R are true but R is NOT the correct explanation of A
qﬁaﬁjéém, o860 BotH Dezah.500 so8es0, r‘%ﬁ)éés@ B [P DHBes 59D

Only A is true
800 cﬁdééém Se(ah HBEDHE

Both A and R are false

4% 2 :ﬁejﬁjéiﬁea, sedeso Both  2DBAHHG 5w
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Johann Gutenberg developed the first-known printing press in the 1430s in
Strasbourg. Where is it located?
58 138 BE Iy Bwdenrr HnEee cholgr 14308° ‘Strashourg's® Iesemyd

e c:]éé_fs ﬁe’ég&.

Options :



Great Britain
05 DS

Germany

mé@f\)

2.

USA
a5, 0. o)

France
G2
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How society holds together and what ties the individual to the society is one of the core
ideas of which thinker?
Wioain dor 80 dotnod. a8 8 Hirerls 0d B8y 6othdod’ @i

& BIDS ebS85% 0085 a5 5en
Options :

Max Weber
56y Sab

Emile Durkheim
2 KHEHS

G.H. Mead
3 % B3RS, BOEES

Erving Goffman
28R RS
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VWho coined the term fourth estate?
av%}a') ﬂ%&n {a'm“?@‘goz’,ﬁén)fé_} ST AYY

Options :

James Bryce
| 25) B9

Thomas Jefferson

L & 0D BEESS

Charles Marrian
00 aB8aHD

Edmund Burke
4 v DEE @068
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Which one of the following is Student Satellite?
& BroE S DB Do SO

Options :
STUDSAT
2B

1.« &

GSAT
BeS

2. %

ANUSAT
INSAT
4% BOPS
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To which of the following is Narcolepsy related?
aﬂﬁi&ééf:um\, & BHS I B8 Bo20BoDEH ?

Options :

Forgetting disorder
8B S

1. ®

Excessive sleeping disorder

@d%orr QBT Borfes
2.9

Frequent attacks of epilepsy
o) S8hrr HEn)e

Compulsive stealing habits
2oD08) GPoldho waaréy
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Assertion [A]: Indian people have diverse cultures, customs, and traditions.
tﬁaﬁ)é&i [A]:zrt5fiash (SHezen DY 50‘5)&5}@,@@@@@, Holardiren EOA sotrth
Reason [R]: There can be no unity if there is diversity.

s8wo  [Rlie 5B &) d88o sokth.

Options :

Both A and R are true and R is the correct explanation of A

| % ARBoH BGEH, R, A @) BGHS HD8es

Ais false but R is true

| ASOERO . R SB@BO
2.



Both A and R are true but R is not the correct explanation of A
AR Both $BG@HS, R, A @) BB DNBes =0t

3. %

Ais true but R is false
4. & ADBEHRG R SBGHRG s0th
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is an assumption about how two or more variables are related
BotsH B JEPD Serodoen o) DBorre HSomotio SHA ﬁé&ﬁﬁ 8eny)) Sise

Options :

Hypothesis

L E’}Eﬁé&g?ﬁ

Correlation
5 % REPO0DOLHID

Sampling
3 % 238 Schdan

Reliability
ﬁééé@cﬁjé
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Which of the following constitutes a social change?
BB 08" DB FHRE Hrt)?

a) Change in demography
e3ergP (R Setyen

b) Change in technology
rosaY Soety)en

c) Change in norms and values
DaHsren, DenHerd o8y

d) Change in social structure

o YBSE° sy
Options :

aand b butnotc

_ a s0Bdin b, =00 ¢ st

aandcbutnotb
a s8adiw ¢, 520 b =2th

a, b,c andd

a, b, csobdin d
3. ¢

aand b butnotd
4 % @063 b, 520 d s=th
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Who wrote ‘Chrysanthemum and Sword'?
Barodios) svbdin ﬁigtﬁg 0 BDoARG?

Options :

Ruth Benedict

Er& DIRE
1. ¢ -

Harriet Martineau

|y SBOHS BB



Irawati Karve
0658 sfcig

Anita Desai
oSG 3oon
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What is the German term that means to understand, perceive, know, and
comprehend the nature and significance of a phenomenon?
2.8 Eﬁg}ﬁéﬁdﬁa SR @Um%é, @-ﬁéo T0E 0, (s, BenoE%e, [faroHerdn

mé&{% 5855500
Options :
| % Gemeinschaft
) % \Verstehen

3 « Lebenswelt

Zweckrational
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The positivist approaches operationalize variables as data
Serodesn émé&é fﬁaéa‘jmﬂm, seogStes DS5nedn % H%HD TrER0B500 ©OotHi.

Options :

Qualitative
| % roerE)s



Quantitative

é&é}ﬁvr’_ﬁéé
2.

Inductive
©e0aTPGD

Deductive

L w QS
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Which of the following can be avoided if both material and non-material culture change
with the same pace?
T Y, FAEEIrS J0Y8 ©f K08 Sl Bos8 S HIND TN WHRIOBDLY)

Options :

Cultural exchange
FPopdE DHhEM

Cultural Diffusion
#D‘K)ﬁj@rﬁé a750)

Cultural lag

arouaE eseico
3 ol 5

Cultural phobia
oSy Kohdm
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Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Who among the following has given the concept of Paradigm?
arTria g DEEHEDHH

Options :

Thomas Kuhn
1. v

, % Anthony Giddens

; » Max Weber

4% Stuart Mills

Question Number : 66 Question Id : 51714411331 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who is the author of the famous quote * Workers of the world, unite™?
% ($0% 8% Gng) KD 20D BEG) ©f & HBG" ?

Options :

L& Karl Marx

Friedrich Engels

Viadimir Lenin

Leon Trotsky

Question Number : 67 Question Id : 51714411332 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about SMOG
SMOG 5809 &% BIDS (HArSHos® 08 H8HE

Options :



SMOG is derived from fog
88 fog ok &EDoin

1. %
SMOG is derived from smoke
- =26 &°F ok etBoDid
SMOG is derived from water vapour
, BB 08 =B Hod 6o
3.
SMOG is derived from both fog and smoke
4 =6 fog soBcin &K ol é@aozﬁ)‘o’m

Question Number : 68 Question Id : 51714411333 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which is not a form of social stratification?
206° DB FHredEsn SH?

Options :

Religion

L a0

Class
) ® SHNS

Caste
_ Bexm
3. %

Gender

4 % Ootisn

Question Number : 69 Question Id : 51714411334 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In which of the following does gender stereotypes become more apparent
BN St BBS® Hors Hured DPSeD DB E0arom.

Options :
Dressing

| % thryen Hbohés
Leisure Activities
S:'l o

- (@08 selgBairen
Professional choice
)EHE aJomBen

3. %
All of these
250y

4.«

Question Number : 70 Question Id : 51714411335 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The Santhals is used to call the outsiders by which of the following name?
Joddn, pohHey 0D &% 2H&® SHOUard?

Options :

. Diku

Dayan

Kayali

Damin
4. ®

Question Number : 71 Question Id : 51714411336 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Who coined the term Diaspora?
Cﬁoﬁjvé)‘-boﬂ LS VRS TATA VI Y @Sér:ﬁ@é&?

Options :

L Thucydides

, = Acrion

Aedesia
3. %

Democritus
4, %

Question Number : 72 Question Id : 51714411337 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match column-l with column-Il and choose the correct option.
HBGEE oD Dol Thotn 280D SHBSY >BY Bokd SHHEN >HS

2388208000

Column - | Column =l
a. Diffusion I. Spreading of cultural elements
57°08) #oéﬂg@é ©0FEDORD 58] Daine
b. Assimilation ii Substitution of non-aggressive attitudes
for the aggressive
$5e0EBes nvi=3le3) eﬂejég,:ﬁa’maéa Ersth 520 a8
(S chanre sohé
C. Accommodation iii. Fusion or blending of two distinct groups
0B BEyodhé Both Jag SRwsramesh Sensdéd, sb|dsnan S0
d. Sublimation iv. Tertiary cooperation
mgémm é&w,@cﬁa aTeseHED
Code:
£88):
Options :
a-iv b-ii  c-ii  d-iv



a-i b-iii  c-iv  d-ii

2.¥
3 % a-i b-iv.  cHii  d-ii
4% a-ii b-iii  c-i d-iv

Question Number : 73 Question Id : 51714411338 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which among the following is not the work of Michel Foucault?
& BI9D 0D DB PSS grEey & B

Options :

Forms of Talk

2PaEs AEianoen
1. &

History of Sexuality
[Slelpt=t wlall:

Madness and Civilization
E}%éééa’m, eatal=1a]

Discipline and Punish
[BaoB8Zes, 85

Question Number : 74 Question Id : 51714411339 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following religion is most widely practiced in South East Asia?
t58es S8 esRasmesd BRI Edath nesin
Options :

L Islam



Zoroastrianism

2.
5 % Judaism
A Manaism

Question Number : 75 Question Id : 51714411340 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who founded the ‘Religion of Humanity?”
BPREE) dndsni’ %;330&5‘3&.
Options :

L Auguste Comte

, % Emile Durkheim

Claude Levi Strauss
3. %

Sigmund Freud

Question Number : 76 Question Id : 51714411341 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following features are considered as critical in qualitative research?
& B10% ofros® O eE)E $588555% EosnD?

Options :

Collecting data with the help of standardized research tools
BSrBEB05naS HBM ST SV HErahos® Sarod HESes

1. %



Design sampling with probability sample techniques
R0FTE)E (HBBAHD &oé@éa’niﬂ&én}@%ﬁ Heorar [DESchdsn

2. %

Collecting data with bottom-up empirical evidence
Bob ool D8 e SIrEE ﬂngéa‘mgﬁ Seod hEdem
3.¢

Gathering data with top-down schematic evidence
2008 (B0 XrdE T ouor Serod WSS

4. %

Question Number : 77 Question Id : 51714411342 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the system in which maternal uncle gets prominence
in Kinship?
& &HIDH égaéﬁ mo@@méﬂ DS [@eaggss SedD.

Options :

Amitate
1. %

) % Couvade

Avunculate

4 % Teknonymy

Question Number : 78 Question Id : 51714411343 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The "Tebhaga’ movement of 1946 is associated with which among the following current
states of India?
& (Bob 15508 gris Dﬁ@;@(ﬁﬁ a) Dﬂljc%oe'iﬁ ‘Bararre’ 1946 6ifEho Sn&HE &ob.

Options :



Telangana
| % Seorres

Chattisgarh
) » 3855

Orissa
- 2.8
West Bengal
S8y ZoKes
4.«

Question Number : 79 Question Id : 51714411344 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the following acts or rights with relevant statements:
s HIDH Sepen S SFEped HooohH B8rS508? odod:

1) Children Rights

aeee) a’:ué;ée_n

2) POCSO Act
@5@5& ééﬂaca’m

3) Prohibition of Child
Marriage Act
are) arsre E‘ﬁhﬁé&’m

4) Immoral Trafficking Act
w338 oEH Sarme S63n

Code:
5553:

Options :

1-B; 2-C; 3-A; 4-D

A) In case of child marriage the person can face
imprisonment for 2 years

arex DRG0P 2.8 3588 2 Jodéore Een
3L 3(:35}5’3»:53&}63

B) The right to education
DTy SPE)

C) Imprisonment for 7 or more years
depending on the severity of crime
38 B5ss ad 7 o QBN Hoddore Een
3F DBoBDI)E

D) Protection of child against sexual abuse
gdofs S3B0He Hod sree BEea



1-C; 2-D; 3-A; 4-B

1-B; 2-D; 3-C; 4-A

3. %

1-B; 2-D; 3-A; 4-C

Question Number : 80 Question Id : 51714411345 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Fatheris a term in kinship
modﬁaé&o@ﬁ 0|6

Options :

Descriptive

L &émmé@éo

Classificatory
Eﬁ%ééea

Secondary
E)ééciﬁao

Tertiary
e‘%@dﬁno

Question Number : 81 Question Id : 51714411346 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who has the right to decide who will be included in the list of Scheduled Caste
and Scheduled Tribes?
ETgen Bodim, aargen 2D 36{:6}@) N8 ) S

Options :



Parliament
aP8500eD

President

(BmG0oED
2.¥

Supreme Court
‘Kn@}@%ﬁ@

Governor of the state
U"{é gtalel{ed)

Question Number : 82 Question Id : 51714411347 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Tippet table refers to as
B2 HBE edre
[+%]
Options :

Table of random digits
dﬁ}neﬁéﬂ&é 08y ﬁ%é

1. %
The table used in sampling methods
L (H8S0HD HEhedd sHdrfod HBY
2. ® Q &
The table used in statistical investigations
. Keol 855088 s5@rRAoS HBE
3. =
All the above
o, L By
4. ¢ DY

Question Number : 83 Question Id : 51714411348 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following is not matched correctly?

& BDD 7SE HH BBrT HBHELD

Options :

Article 338-1: National Commission for Scheduled Tribes
©BES 338-1: Airgen 8K =B BAS

1. ®

Article 330: Reservation of seats for Scheduled Castes and Scheduled Tribes

in Lok Sabha

@%65 330: &E5E0 AEFgen Hedned, nEgen 3o T AY eEea

Article 333: Representation of the people of the Anglo-Indian community in the
Legislative Assemblies of the States

©B8d 333: oolepo FT050F0S @off nobdhS Hive (Hee (@D

Article 331: National Commission for Scheduled Castes
@géff 331 : esrgen Leodne =elch EHhish

4.

Question Number : 84 Question Id : 51714411349 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Match column-| with column-II and choose the correct option.
2,568 HBHSD woddned Bod HHHS) wodtnes® 28559, 8 JodE Ddindm

Column - |
HBH- |
a. Pierre Bourdieu
b. JurgenHabermas

C. Anthony Giddens
d. Michel Foucault
Code:

8%&):
Options :

Column -l

-l
The Field of Cultural Production
FopBE &H)G (HAEdw
This is not a Pipe
ad 2 50
On the Logic of the Social Sciences
FHdE e S80
The Consequences of Modernity
Eéi)eéég’@ 2Beaeseen



a-iv b-ii c-iii  d-iv

1. %

o a-i b-iv  c-iii  d-ii
2. %

a-i b-li  c-iv  d-i
3.

a-ii b-iii ¢ d-iv
4. %

Question Number : 85 Question Id : 51714411350 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In which city was Karl Marx born?
5§ S8 a:odHs.

Options :

Berlin, Germany
1. %

Trier, Germany
2.¥

Paris, France

London, England
4, %

Question Number : 86 Question Id : 51714411351 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who among the following has made use of the concepts, ‘indexicality’ and ‘reflexivity’ in
his theory?

559 ?am;oé&’m&s S dESes, @’Jaﬁoﬁ}étﬂm ARSI VIR 6o vl a e LA [T (A N

Options :



| Harold Garfinkel
Thomas Luckmann
3 % Alfred Schutz

Erving Goffman

Question Number : 87 Question Id : 51714411352 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which is related to Article 330-342 of Indian Constitution?
aalela] t:ﬁ}aﬂrsoﬁoéﬁ fj%é@:ﬁ 330-342 o Ho2000008.
Options :

All India Services
ﬁof@ﬂg et maden

1. %
Election Commission
) % a}eggsa éﬁhﬁ;ﬁn

Village Panchayats
3 % O°80 HozrahBien

Reservation and representation of Scheduled Castes, Scheduled Tribes in
LokSabha

&8 Hasest Agen  Hosnod, ErEn 8o (@8¢5, BEes

Question Number : 88 Question Id : 51714411353 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Assertion (A) . Caste system is prevalent in Indian society.
Eﬁaéﬁétﬂm (A) : gr88 Hesod® s éc‘gé} [Heeorr &ob

Reason (R) : Social exclusion reduces poverty.
280 (R): el Sodsronod oeblogl) SAkod

Options :

Both A and R are frue and R is the correct explanation of A
A,R Both $Ba&3, R, A Ging) D80S HHBes
1. %

Both A and R are true but R is not the correct explanation of A
, % AR Boh $BEHES, R, A Ging) $B@S DHLes

Ais correct but R is wrong

L v ARBISB R &)

A is wrong but R is correct

A ) =0 R HBEDE
4, %

Question Number : 89 Question Id : 51714411354 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one among the following statements is false in the context of participatory
research?

P HBEED HogB)oE® & BILS (HIarEEeS® DB FBGH 5D

Options :

It recognizes knowledge as power

% wd apaed)) #8re H8506

It is a collective process of inquiry
, x ©B Dardes B Srarerd (H8ch

It emphasizes people as experts
©b Raeih Jdmenrr smdiob
3. %



Its sole purpose is the production of knowledge

4w T VI 5@%553)3 i 683

Question Number : 90 Question Id : 51714411355 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who is often described as the founder of structuralism in anthropology?
e Ko’ Ao )ESS JFHBr S8 HIDoD 58

Options :
EB Tylor

Franz Boas
2. %

3 @ Claude Lévi-Strauss

Bronislaw Malinowski

Question Number : 91 Question Id : 51714411356 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one is called non-probability sampling?
BAS° DB ROogrHE)E [D8UcHdED

Options :

Quota sampling

o B H8Sahs5

Cluster sampling
1) (©BTaHEm

2. ®

Systematic sampling

Ly E50E 85N



Stratified random sampling
b dﬁ}ccﬁéaﬁé (58S a8
4, %

Question Number : 92 Question Id : 51714411357 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the focus of structuralism?
ﬁ]m&mvééé o?még, 65&\,%31
Options :

The unconscious mind
@ﬁﬂﬂéﬂﬂé 50850y

Observable behaviour
NP0 ﬁ@eﬁ (238988

2. %
The structure of the mind
3 00y alng) AES
The power of rewards and punishments
. 2aFshée, 380 ¥8
4.

Question Number : 93 Question Id : 51714411358 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements is correctin the context of research?
588G SoBE)E® & BIHD IS O HBARED HBGHD?

a) Research refers to a series of systematic activity or activities undertaken
to find out the solution to a problem.
56805 odme a8 HE0NgE HBapEn BenoEed® s5@rRoH [Saalatiiy

sy Boe S |Beaoen

b) It is a systematic, logical, and unbiased process wherein verification of
hypotheses, data analysis, interpretation and formation of principles can be
done.

o8 2.8 [EHagds, a8, E, o8 (HBad. BAE® HBEH HBBHE
Barod HFsies, DBBes, rlsre HoED DEHBS)RD.

c) It is an intellectual inquiry or quest towards truth,
©B, el Hrgod® HE° Dibes, S
d) It enhances knowledge.

@l arra 6’3‘2}& 008
= = A —b
Select the correct answer from the codes given below:
SBES maranid S (Bod EFe HHod Dod¥ Jasnusmn:

Options :
a), b), c) and d)
L& a), b), ¢) s06d5w d)

a), b) and c)
a), b) s0bciw ¢)

b), ¢)and d)
b), ¢) sobaiw d)

a), c)and d)
a), c) snbasn d)

Question Number : 94 Question Id : 51714411359 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which environmental movement refers to as Greed Game Political Populism by
the environmentalists?
D HogdBes GEgErR), Howsdn I, HHod wby ToeErddh abboaisEnme KRN

Options :



Narmada BachaoAndolan (NBA)
lo)lap 2orS® 06785 (NBA)

1. ®
Silent Valley Movement
28085 ad &gEnEm
2. %
Appiko Movement
3 % @g;.ujgﬁ S IAIRAA W)
Jungle BachaoAndola
L 220N e wo&M¥S

Question Number : 95 Question Id : 51714411360 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Gandhiji's "The Story of My Experiments with Truth" was originally written in
Gujarati. Who translated it into English?
moRd "0208% o (H@rrre £5 " InBBFEr HaoesES’ |Tath ol m0AHEE

S5 BHR6.
Options :

Maganlal Gandhi

1. %

Mahadev Desai

Laxmikant

4 % SushilaNayyar

Question Number : 96 Question Id : 51714411361 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following is true for the F-test?
"F-588 " & & BiHd S® DB HBFHH6.

Options :
Is essentially a two-tailed test
So0gor™ BotH Se) :{:uéué

1. ®

Is essentially a one-tailed test
soogore a8 & Eﬁég

2. ®

Can be one-tailed as well as two-tailed depending on the hypotheses

3 ¢ éﬁét}ﬁé@ ©:050809 2.8 &°%b 5135’3{3)3 Both &Eed svéiéjlj

Can never be one tailed test

L oF 88 508 9588 s

Question Number : 97 Question Id : 51714411362 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the name of Dr. Ambedkar's memorial site?
m.@oﬁcﬁéﬁ B8 H3%o 2H ?

Options :

Samta Sthal
SHxonae Qéﬁ'

Chaitanya Bhoomi

By D

2.

“eer Bhumi

58 &0

Buddhist Bhumi
w%mg a8



Question Number : 98 Question Id : 51714411363 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
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Correct Marks : 2 Wrong Marks : 0

Which of the following was started in 1973 to save the evergreen tropical forest in
the Palakkad district of Kerala, India from being flooded by a hydroelectric
project?

REOEES (ErEg) S50 Hok, aoddird® 8¢ @wg) Hosmb 2erd®) Jd; HIH

&ishotie ofagsind S8oHhet 1973 & [EeBotfd.
Options :

Chipko Movement
| % 028" &goen

Silent Valley Movement

28085 aod estigEoen
2. ¢

Appiko Movement
@E}Jgﬁ 553500

Jungle Bachao Andola
4 % @Oohd oS’ eolly
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Who has propounded that “the primary groups are the nursery of human nature”?
TP (DE)B8 (FrPans Sarsien $8)Ben” © H8FB0NHH?

Options :
Charles H. Cooley

George Herbert Mead

, % Ralf Dahrendorf



Karl Marx
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Match the following

Ty
List | List Il
a. Bihu 1. Tamil Nadu
AR SN E T
b. Dandia 2. Maharashtra
Boéaie E.’Da’}voﬂ@
Ec Kolattam 3. Assam
@t}%o ®T0
d. Tamasha 4. Gujarat
S5map roesoee
Code:
5553:
Options :
a-1 b-2, c¢-3, d-4
1. ®
a-4, b-3, c¢-2, d-1
2. %
3 a-3, b-4, c¢-1, d-2
4% a-2, b-1, ¢4, d-3
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Match items in column-| with items in column-Ill and choose the correct option.
2,865 HHHD eodEneidH Bokd SIS wodhnedd 2858, H8r JodE Jdndn

Column - | Column = I
Entoars el 5=
a. Karl Manheim i. Power
£
b. Alfred Schutz ii. Sociology as Political Education
oresfah Qg FeSeRs T3S
c. Michel Foucault iii. The Structures of the Life World

£DE (HHoS DB)sen

d. Brownislaw Malinowski iv. Sex and Repression in Savage Society
B8 Sdresms? DE), 80 ©ndds

Code:

856y:
Options :

L% a-iv b-ii  c-iii  d-i
. % a-i b-iii  c-iv  d-ii
3 % a-i b-iv  c-iii  d-i
4 a-li b-iii  c-i d-iv
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Religion, marriage, family, caste is example of
05w, Darsdm, Kénonsm, Heodn B8 &i5rses

Options :
Social values

. Foing Densden
1.

Social institutions
- eodng R’)oém



Social norms
Frolng Dairedren

Social segmental division of society

4% HEred rodng DerKd motidn
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Which of the following is known as the “Clock of ageing”?
é@j@;ﬁé [alnTenvitetvvy

Options :

Pituitary

| % ﬁ}m?seaéu

Thymus

[O353]
v @

Thyroid

_ Goronk

Adrenal
L% @éé&e‘g
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DDT and Aluminium cans are examples of
68, eeargbldiro Earen BO. aordetes

Options :

Primary Pollutants
arEshE srensyy selseen



Secondary pollutants

&ﬁécﬁa svma’qé sedseen
2. %

Biodegradable Pollutants
25 @648 3od sdsren

MNon-Biodegradable Pollutants

o 25 @648 308D sodseen
4,
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Durkheim’s study of suicide helps us to understand
CENSLIOFS) 865erS eijichido B @goﬂa‘i}?c‘fm&é} DsEahHtEnob.

(a) Society's hold over the Individual
égg?_._; [y a’}énm
(b) Individual's hold on the society
Drez0p 58 Héy
(c) Suicide rates of various societies
DAY Dalreze @é&&’ﬁe{% Hegroseen
(d) Degree of social integration of a society
Doeezs) Hogn podde 5;03}
Options :
(b)and (c)
| (b) 08d5n (c)
(a) and (b)
5 % (a) s0bain (b)
(a) and (d)
s0bdsn (d
- (a) (d)
(b) and (d)
(b) shbBcsw (d)

4.%
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When did Hindu Succession Act 1956 come into force?
aPoth 808D 55%0 1956 wven &8 SNH6.

Options :
17 May 1956
- 17 b 1956

17 June 1956
17 =5 1956

2.
1 March 1957

; 1 E'ZH':‘SL: 1957
17 April 1956

, 17 & a2 1956
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Which of the following techniques is used for reducing the total dissolved solids (TDS)
in the water?
?Jég,@f’ Sndo BBAY PR émgg@é} SH0DHEIL 6 ~roeay 1HBdH

Options :
Osmosis

o =
2360l ed

1. %

lon exchange
©0ha &rbd

Distillation
3 % ?oogtﬁzéén



Both 2 and 3

2 2 obBciw 3
4.
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Match items in column-1 with items in column-|l and choose the correct option.
555 -1 S8 wodsme, HHI -l S wodHned® =830 JohE Isinsn

Column - | Column - I
2 -l S -l
a. Snowball Sampling i. Sample based on predefined traits.
200D 2OoS (DBSSHHHD Smothne AGooNN oo prdd (HSBBaHHHN
b. Random Sampling il. An equal and likely chance of being selected
in the sample
cﬁwiﬁgﬂ&é 238350555 (58B5cH50&° JHrdorr JohE BE DR odsedsn
c. Stratified Sampling iii. Dividing the population in to small groups
088 (HBIcHBB esrgrid D) Huresrenre DEfBohé
d. Quota Sampling iv. Subjects recruit future subjects
8% (58ScHdHm Pt DB BN Db
Code:
55!
Options :
a-iv b-ii  cHii  d-i
1. ¢
) w ai b-iii c-iv  d-ii
3 % a-i b-iv.  c-ii  d-ii
4 % a-ii b-iii e d-iv
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Match items in column-| with items in column-ll and choose the correct option.
$555 -1 S woddwed, 5% -l Y wodHnesdt 283% JodhE Jondn

Column - | Column =1l
DS -l Do -l
a. Conurbation I. Robert Redfield and Milton Singer.
svo@%ﬁé)
b. The Urban Question ii. Patrick Geddes
D& (D8
c. Pre industrial jii. Gideon Sjoberg
&b\ e ;{g}n-ﬁﬁéa’m
d. Cultural role of cities iv. Manuel Castells
Sepee SPopdE el
(]
Code:
5553:

a-iv b-ii  c-ii  d-i
) % a-i b-iii  c-iv  d-ii

3 @ a-ii b-iv  c-iii d-i

a-i b-iii c-i d-iv
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Which of the following characterizes ageing?
K)a%@%ﬂ& S5 DoHhs.
Options :

increase in the consumption of oxygen
e DI@PEINS® HibhEe



increased anabolism
2B8AY eareredaz0

increased metabolic activity
2605 2585 (HBah

a decrease in the metabolic activity
etéﬁeé £5805r (D8ch

Question Number : 111 Question Id : 51714411376 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who has propounded the theory ‘Duality of structure?’
V8 GIng) BrotkEo’ & (H8arEoNB.

Options :

L Anthony Giddens

Jacques Derrida
Fredrick Jameson

Michel Foucault
4, %
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Match the following:
p2$ 0050

Set | Set Il

a. Narmada Bachao Andolan (NBA) 1. Medha Patkar, Baba Amte, Adivasis,
farmers, environmentalists, and human

rights activists

S 2orS? e@osMES s aréd, arar @fmm, e3bdarioen, Deben
S epvatel SFen, SN srEye sedrE8en
b. Silent Valley Movement 2. Kerala Sastra Sahitya Parishad (KSSP) an
NGO, and the poet activist Sughatha kumari
28085 ard &0 8¢ R Frlrery HBAS, e (Hehsos”
ﬁo@ s0Baim 8, se85EY Kngirar B50.
c. Appiko Movement 3. Uttara Kannada and Shimoga districts of
Karnataka State
o8 o Sopdal Dﬂ@oéﬁ &85 BE, asrme Bepen
d. Jungle Bachao Andolan 4. Against government's decision to replace
the natural sal forest with Teak
220AS S eosY Hiee: eSS Hgrod BHHE 5;&:’&}55 alo]
Dok (Dehesy DSA5TAS HBoLorr
Code: o
Bo&y:
Options :
Le @l b-2, ¢33, d-4
5 % a-4, b-2, c¢-3, d-1
3 % a3, b-4, c¢-1, d-2
a-1, b-4, c¢-2, d-3
4. %
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In which year did the Indian Parliament pass National Rural Employment Guarantee Act?
& Hod&So arBasr (rabes &8%K S Sepd) argotn woiEBodob.

Options :



2002

, % 2003

1997
3. %

4 v 2005
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The value of goods and services produced by residents of a country and the

value of their property is called
2.& BE5 Dardeben &858 I8 Hhde, Hde Dend HBAH a8 r:a"’n:g@ Lenzdii

Options :

Gross domestic product
Krge_:l S8k 6858 ©0otrh

Net domestic product
D88 BcH 68 e0otrd

Gross national income

Gee) eefod errdHo @otrth
3.9 @

Net national income
4 % WBB erfaH eordho @otrd
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According to 2011 census in which state of India resides the maximum number of
tribes?
2011 esvrgr B% (H5°80 Bo&AE™ A Trigos® K85 8Ken JBHRD.



Options :

Madhya Pradesh
Vinly 5SS

Nagaland
ErPeros

West Bengal
58y Borid

None of these

4 % 228 5°5)
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“Caste is a Brahmanic child of Indo-Aryan culture cradled in the land of Ganges and
thence transferred to other parts of India”. Whose statement is this?

Beodn oS8 sroth-udss Podpss (@sBs A8 Ko 556% @ched® 28A
20835 @ oolepe 28 365333%& 20 @)b.

Options :

| % D.P. Mukherjee

M.N. Srinivas

3 @ G.S. Ghurye

L. Dumont
4. %
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Which are the three dimensions of social stratification as referred by Weber?
J0b wdtnre, Sedred ﬁcgéétﬁsa Boden Horth B7?

Options :

Class, caste & estate
518, Besin, HoHt

Occupation. Hierarchy & income level
D8, Bard 1Bsoam, @mﬂdﬁﬁ;m

Power, Prestige & Property

o - o e,
3 o 'g_gn’ b}@%‘?, =0

Class, ethnicity & gender
SBNRE, ed, Doran
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Which of the following can be included in superstructure?
BY ABS® & HIHD wSE® HD Benddn?

a) Mode of Production
668 Dgrdan

b) Political Structure
oredah 08B

c) Values
Densden

d) Culture
Q0B

e) Economy

GOl RN
] &
Options :

| % ae

b.¢: o
2. %



abe

a, b,c.d e
4. %
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The concept “Culture of Poverty” was introduced by:
g‘;eﬁéeﬁf@ ‘K)or‘i’}e‘ﬁéﬁ ARV @ﬁ@%é&.

Options :

Oscar Lewis
1.«

Michal Harrington

2. %

Walter B. Miller
3. %

Kenneth Little
4, ®
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What are manifest functions?
‘KJJ@ AEneD @NT?
Options :

Unrecognised and intended consequences of a social action
ey B85 Hed, HBoDaE, ﬁ@%o;’}m&é SHBegeaieen

Recognised and unintended consequences of a social action
FRrRE $Gg e, HooDaks, ﬁé%@éa}tﬁ?& 2BeFRmen



Unrecognised and Unintended consequences of a social action

3 % PErRs B8 ek rHiomnid, ﬁé%oéa}éﬁ) HBeeEeen

Recognised and intended consequences of a social action

o e S8 Hod mBodads, ﬁé%eém&?ﬁ HBeaeHTen
4. ¢
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In which book does Parsons outline his AGIL paradigm?
2 HHos? bR 88 RS efeed vlalaiie
Options :

The Social System

FHray 58
1. ¢ =

Essays in Sociological Theory
JeSrEE AIEoS0 gD

Towards a General Theory of Action
2,8 S8 Jrprdes ?ocjgcéo 59

The Structure of Social Action
PV Wit nley 068
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In which year the Forest Right Act was passed?
@ DoBéto o8y 5y B0 wodEBoSndob.

Options :

2000



2006
2.

, x 2005

None of these

L 25 595
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Which approach is linked with the emergence of Industrial Sociology?
arB(Eea0E Hairesedisin «‘3_‘)5}0‘2,63058 Do BchHadd ayisylale)

Options :

Scientific Management Theory
Q0D ASrresiirely QEPOB0

1. %
Personnel Management Theory
z)ob direzairi)yy WTPOS0

2. % ®
Human Relationship Approach

3 o 2R Do:odd é@éﬂj«fﬁaﬁn
Structural Approach Theory

i} R]Eﬁée:‘é tﬁején}tﬁ‘i’.g} ?ﬁm;oéa‘m
4.
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Assertion (A): The Indian Constitution was heavily influenced by the US Constitution.
tﬁejgjéém (A): g8 oreegolio din. o, TraERgol (3500 QBN 6od.
Reason (R): The framers of the Indian Constitution were inspired by the ideas of liberty.

equality, and democracy enshrined in the US Constitution.
528630 (R): cin. R, oremgolf Hygold Bden, Hrdso, [Herariinos® grdd oregol

RO Esen (e Sowed.
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).

(A), (R) Soth éa@;éﬁ, (R) ., (A) cdng) HBHE DHBes
1. #

Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A), (R) Botd 3830, (R) . (A) GIng) HBELY DDHBes 5o
2. %

(A) is correct but (R) is wrong.

L (A)3BESB. (R)SOFSB 5ot
3.

(A) is wrong but (R) is correct
(A) HBohHG seth (R) HBohad
4.
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Assertion (A): Fundamental Rights, protect citizens against the arbitrary and
absolute exercise of power by the State
tﬁaﬁlééc‘a (A): (93085 EBE, Ho5rl whsto Hok THOB (FrPinE SeEpen
58es EOyRoD
Reason (R) : the various minority communities expressed the need for the
Constitution to include rights that would protect their groups.
5°8e0(R) 1 DG ee)) JoggE Horen, Gﬂanéoﬁoéﬁ 20 Janrsre S @RNahd

SR Frotosdoeed i Heletiley
Options :

A is correct but R is wrong
A H5Bcbdd R H5B8ahadd seth

1. ®



Both A and R are wrong
A, R Goth H0chadd se)

2. %
Both A and R are true but R is not the correct explanation of A
, x A RBoH BBEES, R, A Gng) HBDHS DS58w 565
Both A and R are true and R is the correct explanation of A
y A, R BotHh HBGS, R, A @) B3 HHBes
4, ¥
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Which one is not an indicator of Human Development Index?
e 0B 8 OB KDY 5t ?

Options :

Life Expectancy
@oﬁnq:é}ém

Education
) %

National per capita income
erB0H S0H0 emrchHdn

Level of urbanization
HEHESes Jrow
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Assertion (A) :The French Revolution had a significant impact on the world.
qﬁej@ééca (A) : BHoSoD (B0S DHHo Kerdahadd (Hardo &od.
Reason (R) : The French Revolution inspired people in other countries to demand

democracy and equality.
580 (R) : (305 D5H0, asd Bave [Hued (Sezeadeediomgl)y, HaeRarty 855500

(26%090b.
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)

) A, R Both 58G053, R, A Ging) BN DHBes
l.

Both (A) and (R) are true but (R) is not the correct explanation of (A)
A, R Both $BG0XE, R, A Gng) 380 DBBee 59

(A) is correct but (R) is wrong
A 35838 R HBahESH seoth

(A) is wrong but (R) is correct

% A ROIIH s R $BESA
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The use of biological explanations in the analysis of social situations is
VL =] éﬂ?géaﬂ & E5%0m08 DHBereid @otHth

Options :

Biologism
1. ¢

5 % Biosphere

3 % Biotic
None of these

. 238 5o

4.
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Who wrote the famous book ‘Folkways'?
PE BT o (HHY BobS HsR) EV0DHH?

Options :

| % Merton

Maclver

sSumner
3.9

4 % Albert
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According to Durkheim, anomie is caused by
b (Hse80 @ardhEd sebemo

Options :
Division of labour and rapid social change from traditional to modern society
FroHmrahy Hireo Hod, BB HHrads [TME Dk, ﬂﬁa’noé@é VT Vi

b’:ovéa;]
1. ¢

Too much pressure from the state
58hE0 Dol @hE 2.8

2. %

When poverty is eradicated from a society
;% DEre0 o8 ABSR) ardlEP0sHH

High educational attainment of a group in a society
4 % Sireof® 2.8 $rsren @bHY DegBs ErotSHe
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Which of the following are Negrito tribes?
B85 DB IRes® Brsen

a. Onge
b. Nicobarese
c. Jarwa

d. Shompens

Options :
L e & b, C

a, c
2.¥

3. % b.d

L% All
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Who has considered ‘modernity as an unfinished project'?
Ka%éém ©J05E (PEE) ©iHNs

Options :

Jacques Derrida
1. #

5 % Anthony Giddens

L. Althusser

3. %

v Jurgen Habermas
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Assertion(A) : Investing in human resource development is a long-term strategy for
economic growth.
Eﬁe‘}ﬁ)éés*a(ﬁu} D AR Hdte @35’)&@% 33&:@3&&, @Q@&&’)&%% é}g]sﬂt} Eslzet i

Reason(R) : Developing the skills and abilities of individuals can lead to higher
productivity, innovation, and technological advancement, which are
essential for sustainable economic growth.

5°6:0(R) 1 QBN s88DNBE wDHBHE sf)E 6SNES, 58 Say, FoBBE g8

©ohdd Jsheagen. %ﬂé}ﬁggm @E’;‘;é&@ DBHE HSed

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)

| v ARDoH H8GH%, RA G $BGS D58

Both (A) and (R) are true but (R) is not the correct explanation of (A)

L« AR Both DB, RA Bng) 6 D8 5t

(A) is correct but (R) is wrong

s« ADOGRO R SOF6 b

(A) is wrong but (R) is correct

L x ADODEB stH R 5BGDoH
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Which of the following work of Ghurye analyses the caste system in India?
F05 G &) @odHn Bosars™) He Slatel D3k TN0b.

Options :
Homo Hierarchicus: The caste system and its Implications

arorae (Sareiniigo e E’Jgeﬁ e DE)ED
1. %



Untouchable
) % ©0trBA&E50

Caste and class in India
3 % moldirda? Loz, S5NS

Caste and Race in India
2080560 HeoHn, 8
4. &
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Correct Marks : 2 Wrong Marks : 0

Which among the following implies array of roles?
BHD e A8 FrPe BA Hrdkod?

Options :

Role Conflict
ar@e Hozndee

Role Strain
arl@e (Haed

Multiple Roles
aso¥ ar|@en

Mone of these
259 o)
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Libido is
DDE e

Options :



Social force
PRl 58

Life Force
A 38

Physical Force
g a8 €8

None of these

238 5o

4, %
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Pierre Bourdieu's theoretical perspective makes use of the concept of capital.
Which of the following is not a part of this concept?
58 26 cﬁrg.?&m;oiﬁ DHBeasin Hrerd grddild eda@rARow.

% 8195 7068 DB eertdE? arridn s0eth?

Options :
Economic Capital
e3BE Horerdisdain
% @
Political Capital
oresfoir Hureddsn
2. ¢
Social Capital
. e Sorrertsidsn
3.
Cultural Capital
L PolEpBE et

Question Number : 138 Question Id : 51714411403 Question Type : MCQ Option Shuffling : No Is Question
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Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
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Correct Marks : 2 Wrong Marks : 0
Gender Performativity was presented by
Dot§ HDESHH (HBTFHoDEH

Options :
L Judith Butler

) % George Homans

Sigmund Freud

Maslow
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following sociologist proposed theories based on his fieldwork in Kabeley
society?
& BIDD & FEPRE (HATFHS RTEROTED LOD =8 $re0d aoHd KO

Il TN
Options :

| % Manuel Castells
, » Raymond Williams

3 Pierre Bourdieu

4 » George Ritzer
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Correct Marks : 2 Wrong Marks : 0



Which of the following is not included in social structure?
el D8S° Kol & B H6?

Options :

Social institutions such as family, government, education, and religion
BHotnoniin, (HEHSEn, DXy nbcin s Hod Ry éoﬁ@:w

1. %
Social hierarchies such as class, race, and gender
, % S8R, 08, Dollddn Hod Fdres Dbararen
Social norms and values that guide behavior within a society
3 % Hreos HEHE Eﬁ}vﬁéfﬁtﬁgéc Jain Fdres Dairsren, Denden
Natural resources available within a society
Hrezodd &iY) Dsre HdBen
4. ¢
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Name the author of the book, ‘Rise of Network Society’ from the following:
& B9 IS BE ©f ISHE) T8 TS 5D AS5S

Options :

Rupert Murdoch
1. %

5 Manuel Castells

5 » SteveJob

4 % Bill Gates
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Which of the following kings of ancient India were patrons of Jainism?
@98 molcirs® B2aHith 5hodD Treren DH%?

a. Srenika Bimbisara
b. Chandragupta Maurya

C. Kharavela
Options :

- aandb

bandc
2.

, » aandc

, » abandc
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XXY is
XXYe:os6

Options :

Turner Syndrome
56 %olES

1. ®

Klinefelter Syndrome
85 g6 bolE
2.

Down Syndrome
&8 ol s

Trisomy Syndrome
BB 2olEH
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Match the following choosing correct option:
¥BGEE TR Do Tntotn &L,

Constitutional Features
U“E‘;SDﬁ Béﬂ‘&'ﬂ@:}

a. Rule of Law
egaD Aoiraen
b. Directive Principles
E’Jééé a7e|Een
o Concurrent List
éEﬁ:}é& ed)ar
d. Suspension of Fundamental

Rights during Emergency
985000 H0cHos? [FREdns

f.jﬂé}@;;}a’m Iﬁtﬁﬂg Faho
Code:

858y
Options :
a-iv b-iii  c-ii  d-i
1.«
5 % a-i b-iii  c-iv  d-ii
3 % a-ii b-iv  c-iii  d-i
a-ii b-iii  c-i d-iv
4. %

Sources
Hoten

i. German Constitution
aat‘jé5 TPezegOiain

ii. Australian Constitution
@@E}Oﬁj D“ﬁﬁgoﬁém

iii. Irish Constitution
2065 Dﬂﬁtﬁoﬁa‘i})

iv. British Constitution

DAA Tresgorisin
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Match items in column-| with items in column-ll and choose the correct option.
H5%-1 S8 wodfnedH SBEEH JohE Tbr D -l 80 woFtned® aEhE5sn

Column - | Column - I
DD -l B -l
a. Third Five Year Plan I. Agriculture.
EyTat éo{éé-ﬁéﬂ [SeamRE é@é%ﬁdﬁ;&’m
b. Fifth Five Year Plan ii. Chinese Aggression
283 Kjoiﬁa’:siél |SeaeE e el
C. Ninth Five Year Plan iii. Jawahar Gram Samridhi Yojana (JGSY)
e‘fi”&bétﬁé éoéeﬁagl [eae8E 220505 (reak miagg arezid (JGSY)
d. First Five Year Plan iv. Garibi Hatao
S0 éoézﬁéﬂ [SeaeEE K68 GoerSP
Code:
%553:
Options :
L% a-iv b-ii  c-iii  d-i
a-i b-lii  c-iv  d-i
2. ®
3 & a-ii b-iv  c-iii  d-i
4 % a-ii b-lii c-iv  d-i
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Assertion (A) : The quality of population in a country is a crucial determinant of
economic development.
qﬂe:,gjétim (A) : 2.8 BEE0SD 2oree, ool @Q?&éﬁj@@. Lot R‘Jgdijvo%&fm

Reason : A large population can be a burden on the economy, and only a small
population can lead to economic growth.
5e8e0(R) @ @8 earer ool eﬂgéﬂéggg gPB0 D) &aPgP @gsné}ég,%% 5565385 H o

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)

| x ARBoH BBIDIS, R A Gnd) S0GDH Dbt



Both (A) and (R) are true but (R) is not the correct explanation of (A)
AR Both BN, R, A @w¥) $B8GH DB 526

2. %
(A) is correct but (R) is wrong
3@ A HBghdd R DB3HHG s°th
(A) is wrong but (R) is correct
e A 2HBaHdG sth R HBGHa6
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The slogan “A tree for each child” was coined for
B AEL a8 éé%g @ ey &:50% JENHB.

Options :
Social forestry programme

FESrRE ©08) seHgEHsn
1. ¢

Clean Air programme
) % 20D md selgEanain

Soil conservation programme
I palelel=l =gl IstavaTy

3. %

Environmental protection programme
g % DoRSee S seUjEREm
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According to our bodies and minds are not separate but connected
6 Hse85m 0 Foren, HHdken I 52 ¥ oD LEB Ko 5T7)00.

Options :



Embodiment
K:u&tﬁ}oéa"m
1. ¢

Ideology

5 % 2P REe0

Stratification
:géééea

Social Institutions
~Posny ﬁoﬁm)ﬂ}
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Correct Marks : 2 Wrong Marks : 0
Assertion (A) : The level of tourism interest and activity in a specific area often depends
on a combination of both physical and human geography that come
together, making certain locations more attractive than others.

Eﬁejﬁ)ééca[m el @E‘ﬁéé e Ekns’ Hovgiol 8 sedgEiben e, F8E Hbain
SRS RS |FsnoR epedhdaron. HD Dol S Eaaeen  oifee

L0 @é@léonﬁ &otron.

Reason (R) : Climate also influences the level and type of tourism activity.
5e8e30(R) ! seeridiiteo ErE Hogbad seBgEsrd), 2);03}0‘53 SHgrdEo JHob.

Options :

Both (A) and (R) are true

|« ARBo® $BAHS, R, A @wd) HBAD DHBes

Both (A) and (R) are true, but (R) is not the correct explanation
» v ARDBoH HB@ST, R, A @n) HBGHS HH8em 0

(A) Is true, but (R) is false.

, ASBESB R SBEIH s
3.

(A) is false, but (R) is true.

L% ADBERG = R SBFSH
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Which of the following are voluntary provisions in the 73rd Constitutional Amendment
Act (1992)?
73 & orezgorl HHBes Segam, 1992 (DB S BIDD > OB 0B HDE

I. Minimum age of 21 for contesting elections to Panchayats
Horond :Dmcléra}éﬁ £ Do 895 2oy 21

. Indirect elections to the post of Chairperson of Panchayats at the intermediate and
district levels.
5055088 Bep ﬂ;meﬁﬁ Howrah Bowd DES e HEBorre dRYEen

iil. Representation of Members of Parliament and State Legislature on Panchayati
Raj institutions.
Somrchd oo éoé@}_} arSaboén, ool BN g5 e (@ SRE5EHD

V. Reservation of seats for backward classes
S8 abd SSimenH %Q E‘:aﬁgﬁ@

Select the correct answer from the code given below:
QB  DErEEeHR)) BB 08 DohE Sasnsm.

Code:

5553:

Options :
i, iiand iv

1. %
i, iii and iv
i, ii and iii

3. %

iii and iv



